AR I RRREFSRERD > AV PR BEE A

10§ & & ¥ o lamF 4 2§ 1 5 KIRIGFFE A

[ 28 ¥ 24F])

TRAE () B EMP(-)
A#tsm - Ad i F (C2121)

. A RERE 190 448 o

CFRERBLIIEE S FREE A% ER RHEAM -

PR SAGH RN Fipe LR .

. HERE 40 3 -




ER TR E L
EEFEC)

HiEAE £ 40410 54525 4

ENT4 7 @EEF Lis &R MiaF
T

(A) MLT 2

(B) MLT>

(C) ML2T 2

(D) ML2T

I

» BT R ¥R — B F] =X %

CHMRED LA L2 CHRE S MR ES R
B3FR AR 2 L EF D9

(A)2

(B) 242

(C)4

(D) 42

iE'J%gﬁﬁ }i ']‘344 /5'2,.{;@11204@“—,]\3
BT b wmiT o QPR R )2 E T

P11
-

o

—
Y

>
s
~
RS
b
9

—1@?§£34>ﬁ*&ﬁ%@ ﬁ?ié4mrw%’£&é102z’
: B FEETFA A - FE IOO’\"}E%?AI‘;%':‘*%
3

BIW 2o A o 2702 7 £ Bl L IR S o 4 A B S
© 7
(A)1.5
(B)2
(C)2.5
(D)3

BE TG - FRASS TS ML MR T A (Er 5 f
S 5 S B B dde 10F P o M d

PP RES B FEF ED 9

(A)3000

(B)2500

(C)2250

(D)2000



1 A28 TR

BEREC)
B 34T A HSD i hd RALD TR 595 T
e R e AR AL B2 e R o BT
i (B3R hiE F b kR 2 A P F DR 2

Nk Fy o RE P AR
N B R
(C)12 & /f) » 23l {3 4 3

(D)1 2 & /) » B4 s g

—-f[%’fﬁ‘ffé‘;; ,ﬁE%@LMMRi&fgﬁﬁiuff%%i%ﬁéféii%ﬁiﬁﬂ
* Th T 2 foE 4 e R K] Ggo R

{
da
Hi =
q F
R

%
SN
>~

-9 “ﬂ\"

—?#mzéTm?% é%ﬂ”2“§WVﬁ§iﬁﬁ%%%£
Ea2ar mFl R ER > B ¥ 26 B L“%frfg‘b.iré»,uétggﬁ;—’a,y
BEE D R0

(A)4

(B)8

(C)16

(D)32



EET R

EEFP()
9. #¥- BEE LW FH T 2w r»k? » pEEELE LW 4t
Bk HH R >~ ’/?‘Jlg—,ﬁ'é‘_’;&;wz°%”]\'ﬁ"%/§iﬁl
DA PR R RETF SRS
W-W
(A) .
W-W,
W+W
(B) 2
W+ W,
(©)
1
W
Prw,
2
10773 My EEFELZERRE 2zt > PHLF?Y
(A)%‘gﬁ’y‘m#’gﬁ’m_}iiﬁ-’J; "E
(B)# % € ~ cht 48 > F R ¥p = g%
O FE~tM . BErR A SHE
MDY#F T~ 8 > B &R P23
173 M a7 k4 FBHPFLfit > P F L F?
(A)HE 5 7 % > i g 72 ¥
(B)# F & k32 % 3 %
Oy F iy ¢ it®
(D)#E 5 ¢ :2 % > L id 7 ¥
12FF B2 3K T3 M BLSHPFL it P F L FE?
(A F %% & %L
By FgMm » AL %L
(C)Kﬁﬂz% HE R E
(D) & 2 % » g & % &



13,4 - 40§ 2 oo

1A E AT

LEFD(-)

A T30 A e BIEH AR R s R

- L Pl R g g W KL ge L oE oo D

(A)10
(B)15
(C)20
(D)30

14 %= B4 3 TEAQIOBHR A B ENFEL Zaz & = &7

15.

16.

® 8 gkt
) ?

5 £ =
E'JEE"']},«é'q,l\:”"rxmg?faz"”"fvwl(kﬁ 'anpx‘%

B R AN EQrQ2hA BBT A RE > FA T FARIES
R A TR BT HR R L SSRE/S Pl
R

4\
Jau

i

e B AR T 500X F100R 2 TR P BT 100K F 2 T R
PR Ry o 55 5T L EY

(A)125

(B)250

(C)500

(D) 1000



T.#7 F L H o KB 64~ &3¢

EREE §oT
BEFEC)
CRE T LA FE Y o £

m;u@%;;ﬂ(%ﬁﬁf)\ﬁgiligg};é s B R 3 R 4 £+ 9

18,3 - BARE Y hEH - A3fp EFIF o RIFREL T

19.

PE L3I F LA BB L RS A6 N BB R T
5

TR MEz TSN FHgLET L E?
(A)30

(B)15
15
(C)7

15
(D)?

A2

FooER g BERNBRE 58007 K enk + 0 Bl - £ B iy
0% F B4002 Kk £k F Q2
(A)2N

(B)N

Ik

N
(€)=

N
(D)7

(A) # k- &8
(B) k&%
(C) T #&x
(D) % & B or



1 AR E g
LEREC)
207 R #23 A3 B 1PH RF 5y 3 L5009
(A)11
(B) 12
(C)23
(D)34

22,0 depp s 50 s GHO, - RIIS2 e anfpph 25 5 2 B a RS 7
(¢ R+ £C=12> H=1" 0=16)
(A) 1.5x10%
(B) 3.0x10%
(C) 6.0x10%
(D) 9.0x10%

23.F 5P ¥ AE 2 AR Y
(A) T #f
(B) &
(C) = B i
(D) ¥ i

24 T A e A & Ak KPR Y
(A) i 4=
(B)i-ﬁﬁ
(C) % K ¥
(D) ¥ = i

75 = 51] - 7},@_‘%’ %% {:‘L_E'/,g‘ga‘,i{);?'; ’ ",E_'_“%‘«“m”é’ I/IZ/ Zfd— E‘hl‘tjﬁ-#i Q

(B) % ¥
(C) P& 57
(D) ‘&2 %

26,3 TRkERT AL TR E?
SEER TRY
CEEREEER.

(C) * 4 2 * 5
(D) & & # &+ %



27.

28.

29.

ERL TR §ik
EERP()
AR E B A T A 9
(A) "k
(B) &v¢
(C) %a %%
(D) &5

i*"ﬁi;? FER L EF A AT 31]?)"3———?@:%@3 ?
(A)i"]‘/f%]
(B) = 7% &
(C)* F K%
(D) # 4t

30.2~ % % it 4 (NaOH)20= 5 > 3 52 2 k3% o B gt ki3 R &

31.

32.

PO HMAEETREARM)? (¢ R+ £ Na=23 > 0=16 > H=1)
(A)1.5
(B)1.0
(C)0.5
(D)0.1

© ek > #2580 2Na+ Cl,— 2NaCl > p| = 511,49:3&???{&5&‘?
(A e her Y BT F

(B)# » + & F B¢ 4R R Al

O 2 pLLFERLF R

D)yzA—F3z tERFE

T R LAY o P AERF Y
(A) it @

(B) &

(C) %

(D) % # "



R AR
BERP(-)
33 A AR B i g AT AR F 7
(A) & 1 4%
(B) & it &
(C) Fn Pk 4%
(D) #it fie 47

34k B L AFEAL R R BEASF LT AR % o
(A) "+ P&
(B) * #%
(C) #* 4
(D) % & #

35.%9 FEATAHRASP FTetdg s 3 it &5 27
(A) P& 7
(B) "= fh it
(C) % 7 s
(D) & #

36.7F %Jfﬁdﬁ"‘#‘ LIS B e
(A) & L @
(B) # # %
(C) = %k 2
(D) F? 27 ™ &

37 HEF B E R AP RSARFLT AR ?
(A) "k hib Rk 3
(B) kv & )
(C) -k et #
(D) *k 514% b 5

38. v A fL epHE ok B5 sr ekt B £ T S R AT ?
(A) ¥ 1%
(B) » 4
(C) fe 1%
(D) & |+



1 A28 TR
LERD (-
3.7 A fe AR R Y .
(A) B fie " gk &
(B) & fin & &
(C) F¥ it &

JONT(FA)E WL Lw ¢ 4o r b BT w B xh 2
(A)
(B) #
(C) 4]
(D) 72



